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(English Version)
Section — A (Languages)
1 ‘“HA-HY TS -TW A T I WE B

A) TSR - AaH B) forez - wem C) &y - HiaH D) a<a - HieH
2. [ TeE T AN foRE AT B SRt ST 27

A) HAfFaaraR B) wifaaren C) vaars B)ELEIBED
3. | @ A fRed wated B 2 7

A) q&EA™ B) foan C) fargmm D) &&
4. FrfoRRaa % ¥ wtmer v wRfo 27

A) FuS B) W@ C) = D) ==
5.  ffoRaa & & wiver wse qfesiar 87

A) Efehel B) & C) =R D) =feom
6.  Teww-ERRIT & g™ A ¥ Fiver g °Er 6l 27

A) dTeTeR - aTfetaRT B) e - Frad C) m- I D) TR -1
7. AT T 3T YehaaT A TANT Bl 27

A) &= B) €| C) s ‘A’ D) ‘A’ 9 ‘B’ 3=t
8. U & fre w0 A R w1 TR 1 Ser B 27

A) 994 - FRE B) 99aH - & C) |aeT- Feh D) JUEH - FREH
9. afeer fora TR o Bkl B 7

A =& B) = C) 9R D) U
0. TS T Ao R ar 87

A) Isetad B) @=ardt C) =R D) dsei
n A I TR R a8 w7

A) TWH B) =% C) &t D) 3R
12 ‘fafr = w@ foeis o 27

A) fer B) & C) &9 D) s
13, ‘s’ @ faew o 27

A) &S B) 3 C) 3o D) =R
4. w8 atu- g & we S -

A) WET-%ed B) W&l +3ed C) 98l +3g D) ¥t + 3Aeg
15, frafaRaa 9@ swe afer &1 =9a9 o -

A) TS + 3= = TSI B) & +%=wrur = faewwu

C) af+ +a = gfea D) = +=9a =fw=a
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16.

17.

18.

19.

20.

“TheM g A’ HETR T FEr I & -

A) foramT- et =t 3 B) 3o wiftr BT

C) 3Ta~ HIf¥Heh I TNt AT HeT D) foram & gom &

A W @R W hEEd T ger I B -

A) FUFI T THA ol B B) Wt I & T e

C) ¥ &l ITANT T s e 3 D) ¥ ¥ TGRS
MATIFHT & A &7 -GFIT Tha T el - AT & folg van wieg ford -

A) FHauT B) 3mRus C) ¥e=R D) 3=
‘o’ weE I A W ¥ R A smar 27

A) It B) Tt C) wr&r D) Wi

G 9T BT ¢

A) T T9E F TBeT 9T IR 9U BT § 39 ST 9H Y hEd B |

B) @ @ ¥ gov UT U YU BT @ 3¥ qeIRy e FEd B |

C) ford =g ot g g <&l 811 39 g8 999 Fed B

D) S e 92 | g 9T TU A8 B 921 Al AR Rl R gT 9 3R dahd o & 39
TEAife aWE Fed © |

Directions Qs. 21-24: Choose the opposite of the given word out of the tptions:-

21.

22.

23.

24.

Jejune

A) Sophisticated B) Arrogant C)-Delightful Ddifferent
Jeopardy

A) Validity B) Safety C) Piety D)Tactfulnes
Obfuscate

A) Complicate B) Eclipse C) Clarify D) Antzate
Inveigh

A) Liberate B) Suggest C) Equivocate D) Suppo

Directions Qs.25-28 Choose the correct preposition, out of the fqutiams, to be filled in the blanks:-

25 Shyam is ignorant _____ his mistake.
A) of B) to C) for D) at
26. His speech was appropriate ___ the occasion.
A) upon B) to C) about D) for
27. Kalim’s behavior is subversive __ discipline.
A) with B) about C) of D) for
28. Radhika’s aptitude__ business cannot be ddubte
A) to B) about C) at D) for
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Directions Qs.29-32 In these questions, four alternatives are giweritfe italicized idioms. Choose the

alternative which best expresses the meaning atithm:-
29.

30.

31.

32.

Afly on the whed

A) a person who overestimates her/his importancga jBerson who cautions the people

C) a person who is hostile to all
Fly off the handle

A) attack someone’s enemies
C) make one’s escape

Keep the wolf off the door

A) keep her secrets intact

C) keep off starvation

To be under the harrow

A) to work hard

D) a persdmwntertains others

B) lose one’s temmpadenly
D) run away from thediffisituation

B) keep protestg@nst the times

D) keep working witmatst speed

B) to be awarded for honestyt&lpe in good health D) to be in distress

Directions Qs.33-36:Choose the correct synonyms of the following wardsof the four given options:

33.

34.

35.

36.

Diaphanous
A) silken
Expostulate
A) infer
Improvised
A) imprudent
Maverick

A) materialist

B) tired
B) disagree
B) incautious

B) spiritualist

C),selfish

C) kind D) thick
C) remit D) simmer
C) unstudied b)ivious

Dpnconformist

Directions Qs.37-40Choose the correct form: of the following words las given part of speech out of
the four options:

37. Above as noun:
A) Our blessings come from above
C) The moral law is above the civil
38. Down as noun:
A) Down went the “Titanic”
C) The porter was killed by the down train
39. But as adverb:
A) None but the brave deserve the honour
C) It is but right to admit our faults
40.  After as adjective :
A) They arrived soon after
C)We went away after they had left
ZBG-21000-A
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B) The heaveasibove
D) Analyse ibove sentence

B) Shyam has seen tips and downs of life

D) ®rgine came rushing down the hill

B) Wl thiard, but did not succeed
D) Theseno one but likes him

B) He takes afterfatber
D) After agbkall sing his glory

Contd.



Section — B

41. Superconductivity is a material property asged with:
A) cooling a substance without a phase change i&)ainless liquid flow
C) a loss of thermal resistance D) a loss oftetad resistance
42. A type of plastic that is biodegradable and leen in the news lately. The ingredient that makes
it biodegradable is :
A) vegetable oll B) petroleum C) corn starch |&3ther
43. How many Dynes are there in one gram weight?
A) 900 B) 375 C) 981 D) 250
44, If the distance between the earth and the sene wwvice what it is now, the gravitational force
exerted on the earth by the sun would be:
A) twice as large as now B) four times as laagét is now
C) half of what it is now D) one-fourth of whais now
45.  Who was the first Indian to be selected toBhgsh Parliament?
A) Dadabhai Naoroji B) G.K. Gokhale C) Bipin ChaadPal D) Lala Lajpat Rai
46.  Which of the following Rajput dynasties did sarrender to Akbar?
A) Parmar B) Pratihara C) Rathor D) Sisodiya
47.  Which of the following is not a classical laage of India ?
A) Sanskrit B) Telugu C) Hindi D) Malayalam
48.  The scientific study of ageing is known as :
A) Etiology B) Gerontology C) Osteology D) Teaslogy
49. Which Indian artist decorated the handwrittepycof the Constitution?
A) Nandalal Bose B) Mihir Sen C)S. N.negi D) Mukesh Bhandopadhyaya
50. Preamble of the Indian Constitution-has beeerated
A) Once B) Twice C) Thrice D) Never
51.  Which of these are nicknamed ‘Bretton \Woodsnbi#
1. IDA 2. IMF 3.IBRD 4.WTO
A) 1&4 B)3&4 C)2&4 D)2&3
52. Section -498A of Indian Penal Code is a pops#ation. It deals with:
A) Property rights to women B) Reservationsvimmen
C) Harassment for dowry D) Kidnap and rape
53.  The United Nations climate change conferenc®T3or CMP9 was held in November 2013 at:
A) Paris B) Warsaw C) Montreal D) Kyoto
54.  The number of approved share markets in Iredia i
A) 19 B) 20 C) 23 D) 24
55. Which of the following state has been brougta the railway network for the first time?
A) Manipur B) Assam C) Tripura D) Arunachal &esh
56. Who among the following has recently been $etkfor the coveted Indira Gandhi Prize for Peace
Disarmament and Development for 2013 ?
A) lla Bhatt B) Medha Patkar C) Angela Merkel ~ Ohandi Prasad Bhatt
ZBG-21000-A 5 Contd.
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57.  Victoria Azarenka, who won the Australian Ofeamnis women'’s singles title 2012 is from:
A) USA B) Belarus C) Germany D) Slovakia
58.  The National Sports Day is observed on:
A) August 29’ B) July 2¢' C) September 39 D) August 28
59. Sonal Mansingh is famous for which form of dzhc
A) Bharatnatyam B) Manipuri C) Kuchipudi D) Kath
60. Ms. Meera Sahib Fathima Beevi is distinguishgthe first lady
A) Judge of the High Court B) Governor of a 8tat
C) Judge of the Supreme Court D) Prime MinisteBangladesh
61.  The maximum poll expenditure for a Lok Sabhat bas been raised by the Union Cabinet on the
suggestion of the Election Commission of India:
A) From Rs. 30acs to Rs. 70 lacs B) From Rs. 40 lacs to Rda@s
C) From Rs. 50 lacs to Rs.70 lacs D) From Rdads to Rs. one crore
62.  Which of the following agencies determine kiag of the countries in accordance with
Economic Freedom Index ?
A) World Economic Forum B) UNDP
C) Heritage Foundation & Wall Street Journal D) Wdsank
63.  When is the World Population Day observed?
A) May 31 B) July 11 C) Oct. 4 D) Dec. 10
64.  What was the highest individual score, in anngs in ICC T20 World Cup 2014?
A) 101 B) 106 C) 111 D) 116
65. Fiscal Policy is related to:
A) Money supply in the economy B).Regulation lué banking system
C) Planning for economic development D) GovernrsdRevenue and Expenditure
66.  Which American President has recently paintpdr&rait of Dr. Manmohan Singh?
A) Barack Obama B) George Bush C) BillClinton D) Ronald Reagan
67. Which is the largest economy in African Contitte
A) South Africa B) Nigeria C) Algeria Mone of the above
68. Who wrote ‘Why | am an Atheist’?
A) Subhash Chandra Bose B) Khushwant Singh C) &hamgh D) Madan Lal Dhingra
69.  The recently set-up"Tentral Pay Commission is headed by
A) Ashok Kumar Mathur B) G.K. Chadha
C) Montek Singh Ahluwalia D) Ajit Prakash Shah
70. National Rural Employment Scheme was launchexighout the country from :
A) 1.04.2007 B) 02.10.2007 C) 14.11.2007 D)0a12008
71. ‘England’ is related to ‘Atlantic Ocean’ in teame way as ‘Greenland’ is related to:
A) Pacific Ocean B) Atlantic Ocean  C) Arctic Ocean D) Antarctic Ocean
ZBG-21000-A Contd.
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Direction Qs.Nos.72-73: Choose one of the four givalternatives that shows the same relationship
as is found between the two letters/numbers to tHeft of the sign ::
72.  RJUL : BOQQ :: LHRX : ?

A) BKPR B) MNCC C) HRYY D) HMNC
73. 9: 162 :: 8 :?
A) 162 B) 128 C) 96 D) 112
74. Choose the group of words that shows samgaeship as is given in the question :
Correspondent : News : Newspaper
A) Farmer : Crops : Food B) Mason : Cemedonstruction
C) Cloud : Water : Ponds D) Road : Vehicl®estination

Direction (Q.Nos. 75-76): Three of the four alternaives given are same in a certain way and so form
a group. Find the odd one that does not belong thé group:

75. A) 62 B) 42 C) 152 D) 110

76. A) Java B) Sri Lanka C) Malaysia Duba

77. In a certain code language, ‘lu ra de’ meartzatwvas it’; ‘mo nil' means ‘you go’; ‘nil pam ra’
means ‘you like it and ‘tok lu fo’ means ‘she wsisk’. How will you write ‘what you like’ in
that code ?
A) nil ra lu B) pom nil ra C) pomra lu @ nil pam

78. If ‘MOUSE’ is coded as “PRUQC’, then how BHIFT’ written in the same code?
A) VKIRD B) VKIDR C) VIJIDR D) VIKRD

79. How many meaningful English words can be maiile the letters ‘ATLE’ using each letter only
once in each word?
A) Two B) Three C) Four D) More than four

80. 36 vehicles are parked in a parkingilot innglei row. Afterithe 1st car, there is one scoatfer
2nd car there are two scooters, after 3rd caethes three scooters and so on. Work out the
number of scooters in the second half of the row.
A) 10 B) 12 C) 15 D) 17

Direction (Q.Nos. 81-83): Six plays A,B,C,D, E and are to be organized from 2nd June to 7th
June, i.e. Monday to Saturday — one play each daylhere are two plays between C and D and one
play between A and C. There is one play betweendhd E and E is to be organized before F. B is to
be organized before A, not necessarily immediatelyThe sequence of plays does not start with B.
81. The sequence of plays would start from whiely

A) A B) F C)D D) Can’t be determined
82. On which date is play E to be organized ?

A) 2nd B) 4th C) 3rd D) Can’t be detaned
83.  The sequence of plays would end with whicly la

A) A B) D C)B D) Can’t be determined
ZBG-21000-A Contd.
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84.

85.

86.

87.

B, C, D, E, F, G, H, J are sitting around aleifacing the centre . B is an immediate neighlodu
F and C. E is second to the left of F. G is sdctnthe right of C. D is not an immediate
neighbour of G. There are two persons betweendCJarHow many persons are between C and
D?

A) 2 only B) 4 only C) 5 only D) either 2 or 4

If ‘A + B’ means that A is the father of B; -8’ means that A is the wife of B; ‘A x B’ means
that A is the brother of B and ‘A + B’ means thatisA\the daughter of B. Then which of the
following is true for P+ R+ S+ Q ?

A) P is the daughter of Q B) Q is the auntlfeds sister) of P

C) P is the aunt (father’s sister) of Q D) Rhis mother of Q

Q’s mother is the sister of P and daughtév ofS is the daughter of P and sister of T. Howlis
related to T?

A) Maternal Grandmother B) Father C) Magti@randfather D) Option (A) or (C)
Ram starts walking towards East from a pointai®l after walking 15 m turns to his left and
walks 10 m, again he walks 10 m turning to his &ftl finally walks 22 m turning to his left and
reaches a point ‘Q’. How far and in which direatis he from the point ‘S’?

A) 15 m South B) 22 m South-East C) 12 m South D) 13 m South-East

Direction Q.Nos. 88-89: Read the pattern of lette/numbers/terms and find the missing term from
the given alternatives:

88. 9,27,31, 155, 161, 1127, ?
A) 1135 B) 1288 C) 316 D) 2254

8. VY,B,T,GO0O,7?
A) N B) M C) L D) K

90. In the following series some letterstare msiwhich are:given in that order as one of the
alternatives below it. Choose the correct altéveat
adb_ac_d _bcda bcac_d
A) bacbd B) dbacb C) cbadb D) acbda

91. If P denotes +, Q denotes —, R denotes x ateh8tes +, then which of the following is cotfec
A) 16 R12P49S7 Q9=200 B) 32S8R®HBBQ 12R 12
C) 8R8P8S8Q8=57 D) 36 R4S 8 Q4710

92. The age of father 10 years ago was thrice gkeeoé his son. Ten years hence, father’'s age will b
twice that of his son. The ratio of their presages is :
A) 5:2 B) 7:3 C)9:2 D) 13:4
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Direction (Q.Nos. 93 to 95): A survey of a loc&y regarding newspaper reading habits shows
that: newspaper A is read by 26%; newspaper B is @ by 25%; newspaper C is read by 14%;
newspaper A and B are read by 11%; Newspaper B an@ are read by 10%; Newspaper C and A
are read by 9% and newspaper C only is read by 0%.

93.  The percentage of readers who read all tiee thewspapers is

A) 10 B) 4 C)5 D) 6
94. The percentage of readers who read at most@mspaper is

A) 20 B) 80 C) 60 D) None of the above
95.  The percentage of reader who read at leashémspapers is

A) 15 B) 16 C) 20 D) None of the above
96. How many times are the two hands of a clocigat angles in a day ?

A) 24 B)48 C) 22 D) 44
97. Calendar for the year 2014 will be the sametferyear:

A) 2018 B)2020 C) 2022 D) none of the above
98. Choose the alternative which most closely réesithe mirror-image of word PAINTED

(A) AATNIAT (B) ATVIA1
(©) AAINIAT (D) AETNIAY

99. Two positions of a dice are shown below. Wheard are two dots at the bottom, the number of

dots at the top will be

°® A .. ..
[ ] oo [ J
e®e * ®

A) 2 B) 3 C)5 D) 6
100. How many triangles are there in the givenrégu

A) 28 B) 24 C) 25 D) 26
101. Which one of the following is the main objeetof teaching?

A) To develop thinking power of the students B) To give information related to the syllabus

C) To dictate notes to the students Dprepare students to pass the examination
102. Which of the following statements regardiMgtory Level of Teaching” ( MLT) is incorrect ?

A) Memory is the initial stage of teaching

B) Memory Level of Teaching mainly depends onghevailing socio-economic conditions

C) MLT includes the habit of rote memorizationfaéts and bits of information

D) MLT enables the learner to retain and alsoagdpce the learnt material whenever required
ZBG-21000-A Contd.
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103.

104.

105.

106.

107.

108.

109.

110.

Which of the following statements regardirfgynderstanding Level of Teaching” ( ULT) is

incorrect?

A) Morrison is the main proponent of ULT

B) It is ‘memory plus insight’ as it goes beyongt the memorizing of facts. It focuses on the
mastery of the subject

C) Cultural materialism is also a primary detenmgnfactor of ULT

D) It provides more and more opportunities for shedents to develop the intellectual behavior

Which of the following statements regardiiReflective Level of Teaching’(RLT) is incorrect ?

A) Hunt is the main proponent of RLT

B) It is problem - centred teaching

C) The students are assumed to adopt some sasexrch approach to solve the problem

D) The teacher assumes the primary place anplpi& occupies the secondary place

Which of the following is not a domain oregadry of instructional objectives according to Bioo

etal ?

A) Socio-Political Domain  B) Cognitive Domain C¥factive Domain D)Psychomotor Domain

Which of the following is not one of the adtages of “Lecture Method”?

A) It is economical as it can cover large audieimdess time

B) It promotes social cohesion among the pupils

C) It is useful for stimulating further learning

D) It has the flexibility for adapting the lectuaecording to time and equipment available

Which one of the following is not one of thdvantages of ‘TV or Video Presentation’ as a

teaching method?

A) Many important personalities and experts areught to the classroom through video-
presentation

B) This method is specifically useful for adulateers

C) It promotes a sort of nativism among the leegne

D) lllustrated lectures and demonstrations can ugplemented by other teaching aids such as
slides, models, specimens, etc.

Which one of the following is not one of tidvantages of*Team Teaching Method'?

A) It helps in sharing the best faculty-by monedsnts

B) It involves optimum use of teaching technigaasd-devices

C) It improves the teaching quality

D) It affects the socio-economic conditions of ghupils

Which one of the following is not one of tidvantages of ‘Group Discussion Method’ ?

A) It flattens out the ideological differences bétpupils

B) It can be planned where there is certainty abtoeiconclusions and objectives. The discussion
is guided by the trainer in an appropriate sequence

C) It promotes communication and interaction witaigroup around a topic or problem presented
to the group

D) It can also be unplanned where the topic presefdr discussion is without any opening
statement and discussion that follows is entirplynsaneous

Which one of the following is not one of tidvantages of the “Case Study Method’ ?

A) It provides opportunity to the participants toritically analyze the problem and express
reasoned opinions.

B) It promotes gender-sensitivity among the pupils.

C) It enhances decision —making and problem-sglskills.

D) It ensures active participation, which may l¢adhnovative solutions.
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111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

41.

42.

43.

44.

45.

46.

Which one of the following is not one of faactions of * Evaluation’ ?

A) Feedback B) Motivation C) Ideological indanation D) Better guidance
Who among the following is considered a premd of the Wardha Education System?

A) Sri Aurobindo B) S. Radhakrishnan C) J.Krishnatin D) Mahatma Gandhi
Who among the following was the main propomémhe Kindergarten system of education?
A) Froebel B) Rousseau C) Maria Montessori @yrIDewey
Which of the following is not one of the “Rrated Visual Aids” ?

A) Slides B) Bar Chart C) Handheld Projector \[lJeo Projector
Which of the following is an independent vialgain teaching-learning process?

A) Student B) Institution C) Teacher D) Pdsen

The highest level of cognitive domain is:

A) Synthesis B) Analysis C) Comprehensive D)HsB0oN

Who has the least chance of becoming anteféeteacher?

A) One who has no interest in teaching B) One ghmstrict disciplinarian

C) One who neglects teaching D)One who knowsigect well

Books can be a powerful source of commurunaprovided:

A) The content is abstract B) The contentlistrative

C) The medium is Hindi D) The print quality dfet book is good

Good teaching is best reflected by:

A) Attendance of students B) Number of distiont

C) Meaningful questions asked by students D)d?Pap silence in the class
The ability to locate, evaluate and effedyivese information is an important trait known as :

A) Critical thinking B) Information literacy
C) Number of distinctions D) Selective attention
Section — B

3ifer - wretenan sife o 2 et fra & H@aforg. fear swan @:

A) Tt garst st rae gRene & o sst s | B) s feeT TRe gare

C) dra uferrer &Y w1f+r D) ferr uft@er =t =i

wiRee o fFe S e - Felieoia 2 3R o & § el § @ 21 S guee 3 o - e
T B, 98 B

A) e o B) ugifera C) @i D) =T

U TM B 9R | fhee ST &

A) 900 B) 375 C) 981 D) 250

T g IR T A I U B N 39 B, W YR W 9 gN Al [ §ef BA:
A) fa 3@ 2 3@ & [T @ B) o=t 3@ 2, 3@ ¥ IR T

C) e 3@ 2, 39 4 Jmen D) fSor 3@ 7, 39 ¥ U - =S

qE YEel WRAA i o o o fafew wae § =mer foean o

A) TETNE RS B) Wi &, M C) fafter wsrarer D) Hrell Ao I
fore ToTIE 99 7 SRR & IR ST T8l foRan o

A) TEHER B) ufeEr C) R D) femiferar
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47.

48.

49.

50.

51

52.

53.

54.

55.

56.

57.

58.

59.

60.

61

HIT-G W WRT @ Fellleehl | =81 2

A) dEd B) o C) &=t D) werare™
THIATHIG o e LT Y THEd 7

A) gfaE B) Wfes=  C) 3tfufa=rT D) forsftar - fomm
fF8 AR R A WAL i SEfciRad il Sl A fohal o

A) FEA 9 B) fafex & C) wa v s=mit D) & S=Iaredr™
WRA & AU S JEEAT o Gy fohee ar foRar T @

A) T& SR B) & @R C) @9 &R D) = w8t
f&= ‘Bretton Woods Twins'st U™ fear S =

1. IDA 2. IMF 3. IBRD 4. WTO

A) 1 3R 4 B) 3 3R 4 C) 2 3K 4 D) 2 3R 3
WA Efed 9 O’ 498 T AeR{UT o 71 s e ¥ wefee @

A) Wit & wwta IR B) wigensti & forg smReror

C) == & forw Iedie D) 39Ul 3R SEAhR

HIFT T TAag qRae= @i COP193taar CMP9 FaaR 2013 ® &8l W g3 o
A) k& B) awar C) wifreast D) warer

WRA A IR AW AR S @ 8

A) 19 B) 20 C) 23 D) 24

fora U591 @9 Aeas H sl IR AT IR R

A) AT B) @ C) D) - JTeUnTd Jeu

2013 & forg anfea PR ik o & o srefera sfew el @R & fore & &t & forg o
o forar T @

A) T&T ST B) Hem drde C) Uil Hehel D) =St wd@e e
faraifRan som=T, foa = st fermr staer 2fFa wifeen ey oe 2012 Wil 8, el ¥ &

A) 4. T8 T B) seiRE C) et D) wArarterar
T Qe fea@ e w2

A) 29 IR B) 29 & C) 29 fmsR D) 20 3R
A AHRE T & fora w0 & fog ufdE @

A) RTACTH B) wforqd C) wfrafs D) &u&

frm i wfes wifeen it form & forg ueelt witen & =0 d wfaftesa =

A) I AT St RN B) T &l TS

C) |aid ~arTerd st =rarenT D) Seear St T A=t

AFaT e & forg stferaaw wae™ @9, IR & el T & g9d W i 99 AUSH BRT 9
fear @

A) 30 RG ¥ 70 ARI TR B) 40 @@ ¥ 70 WG A

C) 50 9@ ¥ 70 oG qF D) 40 9@ ¥ U HiE dF
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62. 3w TrEFEEEEIR & IER <@ 9 FRT A FRiT-d torar FuiRa wwa @
A) T FoIHE BRI B) UNDP  C) 3ReW wISaM Uve did e W=t D) fawa &=
63. faza wraen fiaw s w=mn S 2

A) 31 %3 B) N3 C) 4 &R D) 10 feEer
64. ICC T-20Taza =9 2014 ¥ U Uelt & SIS 1 Ioue AT ek o1 AT:
A) 101 B) 106 C) m D) 16

65. ST Aifd fhe I Gefoe @
A) 3rfeeeer ¥ a1 At AR B) SR yomedt o fafae
C) ¥ faerma & forg smaie D) WEHR & I IR @
66.  Tora smUE Teuly w1 W AR s @ we & ¥ waf = @
A) R e B) vitst g C) faa femiewr D) Tes W
67. G AETEY ¥ 99 F T8 IfHEE w-A 8
A) =feror i B) rgaiRar  C) IresiifRan D) T ¥ =g t 78 7
68.  ‘Why | am an Atheist’®T oRaeh i o
A) BN T 99 B) @wad g C) wia fs D) ¥eeTd SRT
69. B B W TG 7-F FEg AT AN T T HiA 2
A) 3 FAR AR B) WM. &. =g
C) dies B smecattor D) 3oiid Jehtel e
70. TS TR ASEIR GRAGHT FU1 8§ el § A i T8 A
A) 1. 04. 2007 B) 02. 10. 2007 C) 14. 11. 2007 D) 01. 04. 2008
7. ‘gIE’ o ‘ediicd FR’ A T8 99 7 ol dS T da @
A) T HEEER & B) 3fceifesh WEMWR ¥ [C) IR 4R & D) =ferr- ¢ga anr &

fdm . (v A 72-73) : -9 Ry @ oR fawreai § @ g A TR off I HE 9T & S
s . Al AR S IR /A9 TS & SURA HedT 2
72. FJUL: BOQQ :: LHRX: ?

A) BKPR B) MNCC C) HRYY D) HMNC
73. 9:162::8 : 7
A) 162 B) 128 C) 96 D) 112

74. 39 IER-TWE A I O 96! gaY 9 2 A 39 T ¥ few v @
HEEal . PR ;. PR 99
A) fFar : wae : 3MER B) SR : difeee : fAwor
C) 91ed : U : drel S D) &g : 98 : T

dm (v A 75-76) Ry ¢ wR fawedl § A A fahou T Tl A TH T IR T e U
e S 21 39 faww W o Aem ) Sl 7@ 9HE A et @ 2
75, A) 62 B) 42 C) 152 D) 110
76.  A) ST B) sfieient C)waifear D) ==t
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77. U fa@w @iE o ¥, ‘|u ra de’ @ Aae # ‘what was it’; ‘mo nil’ @1 wees ® ‘you go’; ‘nil pam
ra’ o1 siqeE @ ‘you like i’ 3R ‘tok lu fo’ =T #ae™ ® ‘she was sick'd™ 3@ @i | ‘what you

like’ & & for@:
A) nilralu B) pom nil ra C) pomralu D) de nil pam

78. afe ‘MOUSE’ = ‘PRUQC’ & & ¥ whizag fovan Wiean 2, @ 38 &g § ‘SHIFT' = &3 foran
S ®
A) VKIRD B) VKIDR C) VJIDR D) VIKRD

79. CATLE’ 3R ¥ Uen & frae sroiwl oie o A 8, T B0 SR O BU T W dhad U AR
B GANT AT B
A) @ B) &= C)ar D)9R ¥ 3tfern

80. TS Wifehd T K TS fe § 36 A6 @s Y W 2| 9Eel R & A€, Th ek ©, T IR D
qE A T T, MAA FR & A8 AT et AR TS | GRR B qE MY A { Thed d E@ R
Waﬁ:

A) 10 B) 12 C) 15 D) 17

fAder: (wewr A 81-83 ): e el A, B, C, D, E, 3R F &l 2 S A 7 A dh NAd AR A
7GR 9 — Uah Aiesh afa @91 — ImafStd &1 2 | C 3R D & <= 3 Aiceh 2 3R A Ud
C & WA= Ueh Al 2 | F 3R E & AT Uk A & AR E &l F A 98t RSTa et
21 B A 9@ Ugd AR e 3, W S A8 foh G e 31 Aeehl o1 v B I IR FE
B/ |

8.  Icehl &1 A fhg Aiceh 9 3R BOT:

A) A B) F C) D D) fruiRa =&t forar < @eman
82. e E ol fohg ARG Al STEAITST el 2

A) zEd B) =it C) <& D) fiRa 78 for S @l
83.  Icehl & A T fohe e | 3id BN

A) A B) D C) B D) fruiRa =&t forar < @eran

84. B,C,D,E, F,G,H, I% =R ¥ v & 9@ 93 31 B, F3R C &1 fishcas w2 21 E, F& a0
AT G, CH W 4 T 21 D, G & Fsveaw & =& 21 C 3R J & RFam @ =Aafea 21 C
3R D & R frew =afea &

A) Fad 2 Byg#ad 4 C)sads5 D)yam2aq14

85, AT A+BarAdeaefr A, Boifumi 8, ‘A-B’ wioadem 2 fof A, Bl 9=t 8, ‘A x B’ T

Waow & fof A, BT g 2 3R ‘A + B’ & wiaew @ fF A, B &l 9 31 @ '‘P+R+S+Q @ fow

HIT-9q1 FE T
A) P, Q& 3@t # B) Q, Pt 3tie (fimm ot 5iT) &
C) P,Qa sne (faem ot w=T) @ D) P, Q& #mer &
86, QFAM, PR TAIRMATIAR I S, PRI IA IR TN w781 M &1 T ¥ = Raan 21
A) At B) faam C) A D) fawea (A) 3@t (C)
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87.

T S forg ¥ 7d & WE T IE T B IR 15 mIe & 9% IO 98 FIAr 8 3R 10 m Tl
21 iR 98 a¥ 3 X 10 M B 3R FT H IO 91 IR qIH 22 mIAAA B 3R Q' fog ww
gua 81 98 'S’ farg ¥ frem ® ik forw fam A 2

A) 15 mefam B) 22 mefim-1§  C) 12mefemr D) 13 mafemr-gd

dm (97 A 88—-89) : AW /BN /UG B UeA wl U IR Ay ¢ faked A HE uT W

HEH He:
88. 9,27, 31,155, 161, 1127, ?
A) 135 B) 1288 C) 316 D) 2254
89. Y, B,T,G,0, ?
A) N B) M C)L D) K
90. Tr=iifra %91 &, o IeR @ B W 3@ A A e v fawmer A few o ) W@ faewen = T
adb_ac_d bcda bcac d
A) bacbd B) dbacb C) cbadb D) acbda
9. AR Pw T+ B Q&3S —2, Rar 3 x 8, 3k S af + 2, ot fwifra & ¥ wiA-an
& =
A) 16 R12P49S7Q9=200 B) 32S8R9=160Q12R 12
C) 8R8P8S8Q8=57 D) 36R 4S8Q7P4=10
92. 10 991 UBA o &l MY 9 I A A A T A1 10 WA & @, U Ay 9 Fh g | e

BN I A T SE AT S B
A) 5:2 B)7:3 C) 912 D) 13 : 4

fdm (we i 93 -95): WAEIR UF Ued &l el @ foU ueh st ot wderor <uiar @ @

93.

94.

985.

96.

97.

YARIRIS A B 26% UYed &, FHERTs B @l 25% Ued €, GHeRds C &l 14% Yed ;
THER 959 A 3R B &l 11% 9ed &; AR U9 B 3R C &l 10% UYed &; ¥’Raa C
3R A & 9% Ued E IR THrERYA C ol had 0% ded 2l

S IS W A9 SHERYT Yed B, 396! gfEreer 7

A) 10 B) 4 C) 5 D) 6

S IS TeRds Ueh GHMERYT Yed €, 3Heh! Jiaerddr &

A) 20 B) 80 C) 60 D) =¥ & I 3 78 7
S IS A ¥ A S TR Ued &, IAah i 8

A) 15 B) 16 C) 20 D) =¥ 4 31 W 7E 7
TR TS A A gedl U fod A faRee aR wenieT W) B E:

A) 24 B) 48 C) 22 D) 44

2014 AT T Dok fohd AT & holwet GHM BT

A) 2018 B) 2020 C) 2022 D) 39 & 1 o 7S 7
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98.

99.

100.

101.

102.

103.

104.

105.

39 fawmeq ot g o wse PAINTED & wdvr- uffara & sifarsifers femn 2

(A) QATNIAY (B) QATAIAG
(C) AAINIAT (D) AETNIAY
Th TR F A Rufad A A femmr man #) w ee ww  9 fag B O SR 9 W 7 e
farg B o * o
A) 2 B) 3 C) 5 D) 6
fwifera Tt & forem e 2
A) 28 B) 24 C) 25 D) 26

STEATIT T I2T T - 4T

A) feenfda it fiew ot ot farfia e B) wiease ¥ dafed SHeRat 3

C) faanf¥ar =t Arew foramn D) faenfday =1 qlem u @ & forg SR e

AT & i TR(MLT) & daer ¥ Sl a1 6o qet 78 8 ¢

A) Hf AT & SRS sEe 2

B) TeAma &l Wifd TR H{EAd: JAferd |toreh - ST @eeensti W AR e 8

C) MLT % TH&R & T2 AR F:M & W hSEAHRIO i JAed qieAterd 8

D) MLT farensit =t =& arg s=ren 2 fof 3 GRat anElt ol 9 @ 9 3R o U8 W 3! 38
LED

‘Sreamae & sier 'R O(ULT) & gsier A @- 91w I g6l A6l e

A) ULT &1 9w Teadraeh Aika- 8

B) 78 ‘Hfa W srgite’ ® s a8 R a2l & woeudul O 8t Qi w8l e a8 fwa &
T W Rfsd BN B

C) wregfae sifaerare s ULT =1 v wrafies freies ones

D) 7 faenfdal =t sifgs JmRw =l faofaa e # fremfie staer 9ed et &

‘SteamaeT T fomret 'R (RLT) & Gafer o ohir- a1 &9 8t -8l =

A) RLT &l %% &A@ 390 &

B) dE T - hivad eI 7

C) foenf¥ai = woen & weT & oY Ueh YRR o1 MY U ST e B

D) 3reaTdeh Wrafieh T TSVT el B 3K foenslt weraes s s o 7

=W 3N TR AEH T AR NerE ITA N A AT TN RiA- AL B -

A) AT - Ui &= B) ¥ &F

C) e & D) ¥ - &
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106.

107.

108.

109.

110.

m.

n2.

n3.

14.

115.

‘e fafer’ 1 wEe SF-ar w2

A) T8 fremret 2 wifer a8 o9 a9g A faune Ser- 7 @ e o qehat @

B) = faenfal % amnforen daferm ot dearfed ol 8

C) 7& Jiftreh AW Y Wreared el &

D) 3@ IUes 99T 3R A9 - ORI & AR Iehel a9 &l oo Bt B

g fafer & w1 A @ R sty A yegforer’ o wEer wi-w AR R

A) dfE g & g0 I Uite Al Sk faRuat o wen W R o 8

B) u® faftr foamrrer goes foenfal & forg Swant 2

C) = farenf¥al % v YR & Igarare ol Tearted ol &

D) &fra dl 3R Teue Rl TS, Wisell, Al SAle Sl STEATI TRl § WUl foRa O HeReT @

e sreamae fafer @ e W - e .

A) T8 Jferen faafia o6 SO wreAraes - ot @l e R § GERen el

B) @ ¥ 3reAIUA deah-iehl 3R gl T Siferehes IuanT afferd B 8

C) I8 A Ul ¥ R A B

D) ue faenfal <t wwmfore - snfder aRfeafodl ot gofam ot @

‘e aRet fafer’ @1 A - 8 R

A) aE faenfdal & deRe frrarst & s w2

B) el W URuAl 3K I2¥A & AR | AfFuaan sl &, 981 W 3a o FGeAq 6 O Fhell & | 29
Rer=t it gfderss e/ St s A Fefia forar s g 2

C) WF & |- Jeqd fohd Y faw Srier &9 W @1 ® ORI Siafhar i dieaied wet &

D) W&l W uR=mt & forg wege fowa fr&l smfSren ae & o Bl =, 981 98 Jtaiford o &t o
FHA B IR 3 ¥ I qRTE GFi: w@riae B 8

‘g - st fafd’ @ e - A e

A) T8 FRNERI Sl GHET ST ST T9ZeTSUT T SR TheTd 1 o ol IEEX e ol &

B) = foenf¥al % foim-wafear =t Wrewfed et ©

C) a5 foiae 3iR &ear - Gens &l RIS N T B

D) I5 aftha WG ol T ST 8 O IR ATeT ol IRT et

iR T A R - S B

A) gfaafte B) iferuRur C) =ik fareror D) &R fde=
et f3rem gumell T gRdTas fRE AT S @

A) it IR B) W& WuwWH  C) N HWIRS D) eTe TR
faren &t forsamdr yumet 1 X A TR AT S @

A) BEd B) &t C) wiikar #i=ead D) Site =08
‘gfer fogae &’ A - 8 @

A) g B) aR =¢ C) &Y & ISl Woiaex D) difdar dreiaex
JTEATIT - SR Ufthan o T TR i -41 2

INREE K] B) &en C) 3reamesh D) e - T
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6. FAFIHSE &F ol I=dd¥ &R 8

A) AT B) fargerwur C) = D) wedterT
7. UGN STEATIH SH T I SR fRaeT @

A) R &t sream § o & =8 2 B) I FaR ST &

C) T 3reama &t e FHIA B D) W 3T fawa sgd ISt e ¥ W 8
8. TR ¥UR HT GG ST 8 Rl 8, 99 -

A) fawEsg s B B) fawaasg fedt Bt

C) wezw f2=it =& D) q&aeh &t 0T Ul 3Tt B
9. 3BT AN afean 9 ¥ forg g ufafafas o @

A) fornfa o SufRafy B) fasiet &t &

C) faenf¥al e/ 9@ Y il we D) =& § qUT AR
120. GO HY AT, HedicheT hel 3R THIERR 91 § ITANT el Yok Weeaqui faaie 8 o @ved &

A) A fRia B) &= HiewRa

C) fastel =t s D) wa-Teieh &

Section — C (Subject Knowledge)

121. Which one of the following is not the causéhe economic depression?

A) Over-production B) Fall in exports

C) Decline of feudalism D) Mechanization of intties
122. Major result of the Industrial Revolution vias :

A) Concentration of workers in the urban area

B) Increased desire of the wealthy class to shavweer

C) Formation of powerful craft guild

D) Control of agriculture production by government
123. Who first used the term Industrial revolutinriFrance?

A) Frichdrich Engels B) Karl Marx C) Georges Mgt D) Arnold Toynbee
124. Which of the following terms is most assodatgth free-market ‘classical’ economics?
A) Bon Voyage B) Idee Fixe C) Laissez Fairre [EsRentiment

125. Who invented the first Steam Engine?
A) Thomas Newcomen B) Abraham Darby C) Richard Aigiv D) Henry Cort
126. When did France become constitutional Mongtch

A)1789 B) 1791 C)1792 D)1790
127. The international body formed by socialiseswnown as:
A) Social Democratic B)Second International
C)First international D)Socialist Party of thenhd
128. Which of the following group was in favouragen membership to all in a party?
A) Bolshevik B)Mensheviks C)S.D.W. Party D)S.Ruty
129. Which two countries were the first to dechasr on Germany during World War 11?
A)ltaly and Greece B) Britain and France
C)Norway and Denmark D)U.S.A and U.S.S.R
130. Italy‘s action in the World War | was prinmgragainst:
A)Germany B)Greece C)Austria-Hungary D)France
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131. Which international organisation got estdi@dsimmediately after the World War 11?

A) League of Nations B)U.N.O. C) W.H.O. D)N.A.T.O
132. When did Adolf Hitler come into power in Gemy&

A)July 1921 B)July 1935 C)June 1929 D)June 1936
133. During which war did the Russian revolutioketplace?

A)World War I B) Russo-Japanese war C)Napoleovac D)World War |
134. The leader of the revolt of 1857 in Bihar was

A) Tantiya Tope B)Nana Saheb C) Mangal Pandey  Dyrar Singh
135.Who did not participate in the revolt of 1857 ?

A) Tantiya Tope B)Rani Laxmi Bai  C)Bahadur Shahatdd)Bhagat Singh

136. Which of the following could be regarded as dheatest contribution of Arya Samaj?
A) Crusade against the rigidities of the casteesyst
B) Converting non-Hindus to Hinduism
C) Providing protection to the cow
D) Evoking a sense of pride in India’s past
137. What was the primary aim of the AKALI moverhemich rose in the Punjab in 1920’s?
A) To voice the political grievances of the Sikhs
B) To bring about modernisation in the Sikh sociztoms
C) To streamline the management of the gurudwar&skbs shrines
D) To wipe out the caste system from Sikhism
138. The industrial development of India begarhwiiie introduction of:

A)Railways B)Textile Mills C) Mining Technology D3t and Telegraph
139. The Indian industries which were completeiped.on account of British economic policies, were:
A)Sugar and Ship-building B)Oil and Saltmanufaet
C)Textile and handicrafts D)lron and steel
140. Which party did not cooperate in the Quitidndlovement ?
A)Forward Bloc B)Hindu Mahasabha C)Communist Xisksts

141. Which of the following is incorrect about tsarth?
A) The earth is slightly closer to the sun in eadyuary than it is in early July.
B) The earth is farthest from the sun during thethern Hemisphere summer.
C) The earth is closest to the sun during the Soathlemisphere summer.
D) The earth is farthest from the sun during thethern Hemisphere winter.
142. Which of the following is incorrect about reék
A) Intrusive igneous rocks tend to have larger maherystals.
B) Granite is an extrusive igneous rock.
C) Coarse -grained intrusive rocks are cafirdionic igneous rocks
D) Batholith is a massivgl uton.
143. Which of the following is the least urbaniztdte after Himachal Pradesh ?
A) Sikkim B) Bihar C) Assam D) Arunachal Pradesh
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144,

145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

155.

Which of the following state is not crossedimypic of cancer?

A) Rajasthan  B) Chattisgarh C) Manipur D) Madhyadesh.
Match the following :
Place State
0] Riasi a. Odisha
(i) Koraput b. Assam
(iii) Digboi C. West Bengal
(iv) Asansol d. Jharkhand
e. Jammu & Kashmir

(i) @iy (i) (v)
A) e a b d

B) d a b e

C) e a b c

D) e c b a

Which of the following denotes the correctasrdf states in terms of population (2011 censtash f
the largest to the smallest?

A) Uttar Pradesh, Maharashtra, West Bengal, Bihar

B) Uttar Pradesh, Maharashtra, Bihar, West Bengal

C) Maharashtra, Uttar Pradesh, Bihar, West Bengal

D) Uttar Pradesh, Bihar, Maharashtra, West Bengal

National Institute of Disaster Managementider

A) Ministry of Earth Sciences B) Ministry of Sciemand Technology

C) Ministry of Home Affairs D) Ministry of Rural Bvelopment

Which one is the correct order of the spatiaracter of the universe?

A) Milky Way, Universe, Local Group, Local Supeuster.

B) Universe, Milky Way, Local super cluster, Lo¢aloup

C) Milky Way, Local Group, Local Super. cluster, Waise.

D) Local Group, Milky Way, Universe, Local Supeuster.

Find the incorrect match

A) Talcher: Odisha B) Namrup: Assam C) Koyali: Gafa D) Sindri: Bihar
Isohyets are lines joining places of equal

A) temperature B) rainfall C) pressure D) height
Bermuda is
A) North Atlantic’s high pressure cell B) Northlamtic’s low pressure cell
C) Indian Ocean’s high pressure cell D) Indian &ce low pressure cell
If there is a difference of 2 degrees in thagltudes of two places, there will be a differenée
in their time.
A) 4 hours B) 4 minutes C) 8 minutes D) 8 hours
R. F. in the scale of map denotes
A) Rainfall B) Ratio factor C) Rough form D) Repantative fraction
To measure humidity, we use
A) Planimeter B) Psychrometer C) Lactometer DjsOmeter
New Moore Island is near the coast of
A) West Bengal B) Odisha C) Andhra Pradesh  DjiTaladu
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

168.

169.

Which one of the following landformsnist associated with continental glaciers ?

A) till B) stratified drift C) glacial drift Duvala
The rate of decline in temperature with adiiin the troposphere is:
A) 6.5°C per100m B)6.5C per 1000 m C)6.5Cperl0m D)6.8C per100 km

Which one of the following statements aboutifR#ot correct:

A) In RF the unit of the numerator and the den@tunare taken as the same
B) The units are never mentioned when the scagpsessed in the form of RF
C) The denominator is always 100

D) The numerator should always be 1

In which state of India is Angul, the largatminum plant in Asia located ?
A) Gujarat B) Jharkhand C) Odisha D) Chattibgar
Read the following statements

(i) The place of origin of earthquake is calledus.

(i) The point directly above the focus on thetkarsurface is called epicenter.
(iif) The Richter scale measures the intensityheféarthquake.

(iv) TheModified Mercalli Scale ranges from I- XII.

Identify theincorrect statements:

A) (i) and (i) B) (iii) C) (iii) and (iv) D)(iv)

The growth rate of population during 2001-&(ar Census 2011 stood at:

A) 16.3% B) 16.9% C) 17.7% D) 18.3%

As a result of Green Revolution, which foodgsahad a reduced percentage in total foodgrains
production?

A) Wheat B) Rice C) Cereals and Pulses D) Nufrtbese

Kasturba Gandhi Education Scheme is related to

A) Girl education B) Adult education

C) Child labour education D) Tribal woman (abd&years) education

National Rural Health Mission has been lauddhehe country since :

A) April 11, 2005 B) April 12, 2005 C) April 1,006 D) April 12, 2006

Strategy which makes an all out effort to pevthe masses in India access to basic facilisiesh
as health, education, clean drinking water ettensied as:

A) inclusive growth strategy B) exclusive gtb strategy

C) rapid growth strategy D) balanced growthtstyy

Which of the two employment programmes aradaierged in newly introduced Prime Minister’s
Employment Generation Programme?

A) PMRY and NREP B) NREP and REGP

C) PMRY and REGP D) None of these

Central Issue Price of foodgrains under TRiz&ides price for BPL and APL (below poverty line
and above poverty line). What is the differenceneen the two ?

A) Price of BPL is one third of APL price  B) Déffence of Rs. 600/- per quintal

C) Difference of Rs. 250/- per quintal D) Price AL is double the BPL price

Tendulkar Committee on its alternative mettaglp for calculating poverty ratio has estimated
population below the poverty line at

A) 33.8% B) 37.2% C) 39.0% D) 40.2%
‘Food for Work Programme’ was renamed as
A) RLEGP B) IRDP C) NREP D) MNP
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170. Global Hunger Index released by IFPRI in Q610 placed India at

A) 58" rank B) 67" rank C) 69 rank D) 74 rank
171. Which of the following is better measure ocbeomic development?
A) employment B) size of exports C) rural constiop D) national income

172. What is Open Sky Scheme?
A) Export promotion scheme of Civil Aviation Mirrg B) Free economy policy

C) Tax free policy D) None of these
173. Which sector constitutes the maximum shaiaitional Income of India?

A) Primary B) Secondary C) Tertiary D) Aletlabove have equal
174. ‘Smart Money’ is a term used for

A) internet banking  B) FDRs in banks C) creditdsa D) demand drafts of banks
175. ‘Pure Banking, Nothing Else’ is a slogan rdibg

A) ICICI Bank B) HDFC Bank C) SBI D) UTI Bank

176. The money supply measure M2 as published RyirRRides
A) currency held by public & other deposits of RB
B) A + savings deposits with post office saving kein
C) A + net demand deposits of banks
D) B + net demand deposits of banks
177. The growth of light industries is hamperedtmsy fact that
A) these are run by small entrepreneurs with &ochiinancial resources
B) these do not enjoy economies of scale
C) perpetuate the dependence on imports of dajuitals
D) all of the above
178. Main distinguishing feature between moneykeiaand capital market is based on the

A) cost of credit B) term of credit C) use of dite D) user of credit
179. Multidimensional Poverty Index (MPI) is a newlex to be included in:

A) World Human Report B) Human Development &ep

C) World Development Report D) India’s Human B®pment Report

180. National Food Security Mission targets to réase the production of wheat, rice and pulses in
next four years to —
A) 10,8 and 2 million tonnes respectively B) 8&k@ 2 million tonnes respectively
C) 8,12 and 2 million tonnes respectively D) 8ah@ 4 million tonnes respectively

181. Parliamentary supremacy is a definite feadfiolitical system in :

A) U.K. B) India C) Canada D) Australia
182. Indian federation closely resembles:

A) U.S.A. B) Nigeria  C) Australia D) Canada
183. The word ‘ Democracy’ has been derived froenlémguage:

A) Greek B) Latin C) English D) French

184. Who among the following described democrasyha “Tyranny of the majority”?
A) Rousseau  B) De Tocqueville  C) John Dunning DyndModison
185. Who decides allotment of symbols to Politleatties in India?

A) Political Party Leader B) Election CommitteleRwlitical Party

C) Election Commission D) Political Party govieghcommittee
186. The opportunity for all citizens to votecadled :

A) Representative Government B) Civic Virtue

C) Universal suffrage D) Democracy
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187. Which one of the following is the chief soaiof political power in India?

A) The Constitution  B) The Supreme Court C) Peeple D) The Parliament
188. Which one is not an element of a federation?
A) Written Constitution B) Supreme Constitution
C) Single Citizenship D) Bicameralism
189. Panchayati Raj means:
A) Concentration of power B) Centralization afer
C) Decentralization of power D) State power
190. In which year ‘Jana Andolan’ was started ip&le
A) 1989 B) 1990 C) 1991 D) 2006
191. Free Bolivia Movement turned into a progresgiulitical party in Bolivia was formed on :
A) 15 January, 1985 B) 15 January, 1986
C) 15 January 1987 D) 15 January 1988

192. The Constitution of India was enacted by tbhagiituent Assembly, set up:
A) Under the Cabinet Mission Plan in 1946.
B) Under the Indian Independence Act 1947
C) By the Indian National Congress
D) Through a resolution of the Provincial Govesnts.
193. Which fundamental right prohibits traffic inrhan beings in India?
A) Right to Equality B) Right against Exploitati
C) Right to Freedom D) Cultural and Educatidraght
194. The Constituent Assembly elected as its peemachairman:
A) B.R. Ambedkar B) Rajendra Prasad C) JawahaNeharu D) K.M.Munshi
195. How many Lok Sabha Constituencies-are thehediia?
A) 540 B)550 C) 547 D) 543
196. The joint sitting of the Indian Parliamenpresided over by :
A) President B) Prime Minister
C) Chairman of Rajya Sabha D)Speaker of Lok &abh
197. The Constitution of India is Republic, becaitise
A) Provides for an elected Parliament B) Provitesadult franchise
C) Contains Bill of Rights D) has no hereditatfgments.
198. Which one of the following writs is issuedthg Courts to release a person unlawfully det&gned
A) Quo-warranto B) Prohibition C) Habeas Corpus D) Certiorari
199. Who decides whether a bill is a Money Bilhot?
A) President B) Prime Minister ~ C) Speaker of [Sd&bha D) Supreme Court
200. Who is the founder of Bahujan Samaj Party?
A) Jyotiba Phule B) B.R. Ambedkar C) Mayawati ) Kanshi Ram.
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Section — C (Subject Knowledge)
121, ¥ W T HROT HIA-A1 A B

A) 3t -IeareT B) fata ® o= C) UFare T Yo D) 3TN T AT
122. 3N i o e aRom o

A) BT &7 | Aoy T gh I B) eMar ol ol wiferd W e o ) et 5wt

C) wferament T&aehR St a1 fetoT D) &&R g1 FH¥ Iwel R e
123. B9 W 99 ¥ Usel NI div Ig w1 GANT foReer R

A) Tafga Tew B) & e C) wisis fehare D) S TR
124, SH-9 9T A - AR FeAeat’ i & gafod foRn o @

A) T AT B) fAfiwa feam C) 3r&er =it D) Mfrca=e
125. UEA WIT IO ol ford o snfaser fmar o

A) 4@ FWT B) IETEW I C) R=E smuse D) 1 @i
126.  HiG Gadune Jftafa e

A) 1789 B) 1791 C) 1792 D) 1790

127.  EEIGETCAl N1 STE SAGASCHA e i SRl st Tl °:
A) smIivTeR Aeaa B) fedia siqcla C) vaw simwem D) fowa &1 weraret @
128. HT-A WE A K 41 & folg Gel qewdr & qE A o

A) dreRIfas B) ¥-afaaa C)wa S s e D) T8 3R
129. -V A W foma g= |l ¥ T W g2 S AT FA F 99 & I A

A) T SR A B) fse= 3t v

C) =id 3R S D) 4 V¥ T $iR 4 T T 3R
130. faza g@ | 9 Tcoit A wRaE! A fhas fovg &

A) R B) AR C) sitficar-zndt D) wia
131 -9 FOOKE ST A 999 gE |1/ G 918 ST 3T @ et fRar o

A) T IS B) 4. & 3. C) T=g, va. 3t D) T €. & &
132, 3rEtew fReer ¥ S N e Wik wswT &

A) TTE 1921 B) e 1935 C) 9 1929 D) S 1936
133.  fra 7@ & @ A @ Fwi afed g2

A) fwa gz I B) ¥ -WU g€  C) =diforat I& D) fma gz |
134, foBrR #1857 & fagies o1 =an om

A) Tiferr @ B) AT GRS C) ¥t Iig D) &= s
135. 1857 & fagis & forg ¥ s =18t formr o

A) difaar B) Wt wiest s C) s8Igx & W D) s fis

136, 3 GAIS T AT ANTEH fohe T SIAT =R
A) Wi -ugfy ot worast & fovg ovigg B) - fergsll o fomg ot % aRadw
C) T Sl GXeN Y el D) ¥RA & 3 & TG &t WG T SMEF HeAl
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137.

138.

139.

140.

141.

142.

143.

144.

145.

1920 - ¥ Ul W I N A T TIfeh A T oM

A) Rral =Y Torifae ferEal ot sae e

B) @l & awifoter Rarait a1 smefFatierer s

C) el 3ruar g enfiies Tl & Use Tl /el 3R IR ST

D) fora et % & Wi Tgfd ot @ T

WRT i SRR i foRE & AW ¥ SIRH g

INRGES B) U FREM C) @ TSt D) =& 3R dr
fafew &t e Al & FHROT Q0 /e ¥ R/AE §¢ AR IANT A:

A) @3 IR 9 - fAator B) 91 3R FHE «HMT

C) &9gl 3R TEHR D) et 3R e

RT DI e & fohg o ¥ ¥8anT 8t faar o

A) IEA AR B) ferg wems C) a/Fgarat D) wHTStaret
9 & R A BT HAT GEl 76 B

A) TAE & RN F A TG T IRA A A A W B e T 2
B) I Tenel oA A oAt T ¥ 99 ¥ JAfUE R B ©

C) =ferht Memel e § g2t wF & stfa Frere B

D) I Mene Haqerter o 9ot € ¥ 99 ¥ AU R Bl B
Tl & IR | RIA-A FHIT GEl 6L 2

A) AT AT el # I ¥ MU @A fheed Bl &

B) e sfEael =g e

C) A - dlell SFaael Feel ol faaeliar JNAT Jee™ hed &

D) Wewe- 9N faeeia o 8

e Tew & 91T RIF-A Aod I A FH qEdend 19T 0

A) fafera B) fasr C) 3@ D) 3= gem
T - AT heh T GRT hid 81 fohal STl &
A) TSEIE  B) Swiee C) wfoTR D) e gam
T ol o A R
paiG asa
(i) Rardt a. nfeam
(i) FRgE b. ™
(iii) femmarg c. ufEerRlt ser
(iv) 3ma=ars d. IREs
e. S 3R FHTR

~—~
~

[ (ii (iii) (iv)
(A) e a b d
(B) d a
©) e

e c

b e
b C
(D) b a
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146.

147.

148.

149.

150.

151.

152.

153.

154.

1586.

156.

TSA HT RIT- A A, TG (2011 FAIRH) & T H 990 I o2 F 99 4 DI A A Tl B

A) ITR =T, WERE, U S, foER

B) IR Yau, Werreg, faew, af¥=w avmer

C) WeRTE, IR T, fomr, ufierit sma

D) 3R 9o, foBR, were, 9f¥awi s

faufe geierm o1 Udia weA fRE & SR

A) T2 o e B) famm 3R Faeeiio Ao
C) & AWal &l FA D) urvT foehmE waed
TENE & N faRIwer &1 i -1 A wE R

A) ST AT, FRNS, TG AE, T HeW T

B) w&MS, SRl TN, TAA He o3, LA W6

C) 3T T, TAFT WE, 1A A8 o1, Falle

D) =g €8, Rl NN, FENS, TAHG A =1

AT HAT I A FY:

A) TeER 3t B) AMET  : 3@

C) &t : oW D) fdet . fasr

IEAIEECd 4 @ & S aHe & R e g

A) TTH B) ant C) Tama D) S
TR B

A) TR JeeAiich I TET FICSHT B) STl Steaniiden 7 ama Fiftset
C) fav= WEENR I=a & Shiftsaht D) féve We@ER e cama it

I N H ® W A 2 R A e g, ST @ a A fawel &t 3R BN
A) 4 =2 B) 4 fime C) 8 fame D) 8 e
AHRE & Ao #RGF g e

A) Tt B) U@ &R C) G&U &1 D) ufafAfers fomr
T A W & forg, B WA o ©

A) iR B) @R C) JFerieR D) Sifuariex
o R 89 fre & 9 & Fee @

A) afF=Rt S B) sifeam C) 3 gem D) dfiet Arg.
T A 9 - T AR T & Fated A8 2

A) T B) wied JuarE C) fewrt sars D) foama I
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157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

TARHR F S ¥ AT H FR A R 2

A) 6.5°C gfer 100m B) 6.5°C ufar 1000m

C) 6.5C ufa 10m D) 6.5C gufa 100km

RF & 9o ¥ -9 6o 981 =8l &

A) RF¥ T 3R AGeX &l TohTs ol G foral Sirem &

B) W& W9 T RF & § oo foha Wil &, < Sah1Sal ol el ot 8l foham ST

C) 9I9e BH90 100 Bem & D) T Sl BN 1 BT AT

TR ¥ Ve @ 9 ¥ 991 99 S, YR & {6 ed § Rud @

A) TR B) #IR@s C) 3nfeam D) S<ieie
iR ot A 02

() T A Il & T H weslorg Fed §
(i) 9= A TR Dewleg ¥ FW g A s wEd B
(i) Reex @t se & Dgar F AT 2
(iv) ¥aiaRa wehell Thet o1 WM | - XI| &
AT HIA F IEAT -
(A) (i) 3t (i) (B) (iii) (C) (iii) 3 (iv) (D) (i)
2011 &t SI{ehehl & FER 2001-10 & SR o Taedl &t |@gfe o o

A) 16.3% B) 16.9% C) 17.7% D) 18.3%
R il & IRVTEERT, el WA IeIe (e FAIe ht =it Jroeraen o:
A) ¥ B) =maet C)y 3TN 3iR Ty | D)EF ¥ FiE S 78 2
e den fEren aRareEn e | s e

A) =ifererr faten B) Wie farem  C) arersi favem D) SHeiritg wfeer (18 &t & 3iferen ) farenm
T TR e fee o W e ¥ gE R T @

A) 33 11,2005 B) 3tdel 12,2005 C) 31de 1,2006 D) 39 12,2006

T AR WRT § FHEER R @R, e, @ w1 A o gt e gfdenst 9@ uge e
¥ QU ya@ FR B, I8 FEd B

A) wfiE dgfe A B) 9 wgfe Wi C) 3w gt WM D) i dgfg R
HT-F A AR FIFA I Y Yafad T - A= & ASHIR e FIAHA A (HeAn 5 & 2

A) PMRY 3R NREP B) NREP3R REGP

C) PMRY 3k REGP D) ST % &g <t 781 &
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167.

168.

169.

170.

171.

172.

173.

174

175.

176.

177.

178.

TPDS & i @RI & dwid W & § BPL (TR a1 & A) 31k APL (TR @ &
FR) & fog e affera 21 a9 § o iR 2

A) BPL &, APL &i¥d &l Ueh - ek B) 600/-¥9d ufy fareet & 3R

C) 250/-%w ufa fardeet &1 3R D) APL & forg & BPL 9w &t <k &
AN AT T FHo F & oI SO Jehfoden T - JUTell R g Affife 3 T 3@ & A A
TG T foReHT S o B

A) 33.8% B) 37.2% C) 39.0% D) 40.2%
‘M T T SIS HAHA’ HT AT A AT

A) RLEGP B) IRDP C) NREP D) MNP
FFCER 2010 ¥ |FPRI BV TG fwa s Goieniah o 9IRG &1 fohd ¥ R @ o

A) 58 -4 3% B) ¢7-ai ¥& C) 69 -4 I D) 74-a1 3&

e e o1 JEeR URAT -1 2

A) AR B) i@ &1 R C) AW IJUHRT D) U 31

T ST AT T 2

A) RE fooe w=rer &t e dade aemnr B) e srdiedeeen Aif
C) & Ha -t D) 3T # & =g % 78 2
IR AT S H SifereRaw W fRE & @ e

A) wafi B) T C) g D) & @& Tl SRR {7

‘= Her’ ue 1 vAnT fohe & forg faRar W #:

A) Fee s B) S&f § FDRs C) SuR &S D) i & AT 3
‘g s, 3R e 0 T8 A fRe e om
A) ICICI §= B) HDFCds C) SBI D) UTI s

RBI gRT Yemf¥a {eT SMqfa aRema M2 & |ffera @

A) RBI & A& 3R 3 91 BRI <@t e B) A+ SIhER SO Sl W SOd ol
C) A+ & faer | ST D) B+ sl & fAae @i oo
TA® AN o FaUT 3 T e dT Ay 2 fh -

A) Aifia o gareml 9ot o STERAIsH BRT IeY o &

B) ZAeh! o T &l TR Sueiey FEl €

C) IoiNTd a&g3ll & STl W i =it =g @

D) S9gad o+t
T SR 3R Tl SR & e fafiree e fore e smenfa
A) JUR Tt AR B) Surm@fer  C) JUR ITANT D) IR T FARTHAT
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179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

190.

191.

g - AR TR g (MPI) 7o gahieh 8

A) faza wma Raid B) wrHa fawma Rard

C) faga faerma Rard D) ¥Ra & wa faw@ Raid

T JMER GReN FHeT o1 e 3Tl OR a1 & AG, a9 3K Sl o el FEl q TG B
A) ®ar: 10,8 3R 2 fafera o= B) ¥ 8,10 3R 2 faforT ==

C) %9l 8,12 3R 2 faferm o= D) w¥: 8,10 3R 4 fafem &=

FEAT e o 3w A o wrae ot g fag @

A) T=. B) R4 C) e D) sitegferar
WA |99 R ¥ e 3 a2

A) grEy.  B) wrEwiRar C) sieeforan DERE

s ‘Democracy’ & Feafa fora Wi & & TE 2

A) TAT B) <t C) st D) wre
AT ol TEERIHR| H AR & ¥ A foRemr aftra fora:

A) & B) cienfaet C) Wi 3T D) Site=T AfzaT
RA ¥ o ol ot e Stiees o ol & o 2

A) TSHIfaE I T A B) sifceh & hi @ |t
C) fate 3mamT D) UeFifaes e ot I afify
T ANIRA! Sl AASH & ol TR hl THad &

A) gfafHfer aeR B) AwiRer |gaur

C) WaFIM  HAEIRR D) wehe=

MR A AW AT oAl AR FA i A B

A) dfdem= B) Wared =@ C) &Nl D) @4ag

Y T Ocd hiT-41 T8l ®
A) foftaa dfgerr B) waw dfaus C) T#ed -INR&ar D) fadeT vl
TES TS T AT 2

A) I T Gdhgu B) wiferT T hataRer

C) wiferT o1 farangiaeon D) s e

AT W S sndee fRa ad W s fRan e em:

A) 1989 B) 1990 C) 1991 D) 2006

T AeAadr ST, S AftedT # SR TSI o § gl -1 A1, Td a9/ 0 &7
A) 15 I9aX, 1985 B) 15 SHaw, 1986 C) 15 W=ad, 1987 D) 15 S=a, 1988
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192. ¥R & GQUM @ U @ A Aeiafe fmar or, o st w6 TS o
A) 1946 ¥ dfere fige Ao & el B) SR Toaadl AAMTH 1947 & 3l

C) WA T I ERT D) 9=iia TRHRI & TEd g/
193,  TIT-¥ e JAURR HRT | Aal & FAY AR hY Ahell 2
A) AT TSR B) =t & fog siferar
C) =l FfUHR D) wremfuen AR e sfeeR
194,  WEUW @ T AT TS A R T
A) . IR TR B) Woi= g@E C) WameR A 78% D) &. T =0
195.  ¥RA ¥ ol & & fohaer faaeT & 7
A) 540 B) 550 C) 547 D) 543
196, RA H GOE FI GIFT SSF T LA i HA 2
A) Tegafa B) 9u W=t C) TSH AT T N D) ehasT ot T
197.  ¥RA 1 AU TURT 2, e I8
A) Traifa @@e &1 YEe e @ B) ouh AR T YT el &
C) =& iferepr = wffora 2 D) =&¥ #¥ e o 78 &
198. 3y 2 ¥ Fuad # fow =fea = Ret & & o0 seEeml gm 9 o Re - @
A) fEEHR gt B) ¥t
C) a& IHEMhTo D) 39 - o
199. =4 o1 Ui @i et ® b faeaes o fagee # o =&
A) gt B) gu= W=t C) WhasT ol T D) watea =@
200. Fgo WIS UIET T a0 i B
A) Safaer wet B) & 3R 3fesdx  C) #rEmEcd D) =it T
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Instructions :

1.

10.

11.

12.

13.

14.

Write your roll number on the Question Bookletialso on the OMR Answer Sheet only in the
space provided and nowhere else.

Enter the Question Booklet Number and SeriethenOMR Answer Sheet by darkening the
corresponding bubbles with Black/Blue Ball PoinhRaly.

To open the Question Booklet, remove the StBpiegently.

Check that the Question Booklet contains 20QeQ@ive Type questions with multiple choice
answers. In case of any discrepancy, inform th@ilator within 10 minutes of the start of test.

Each question has four alternative answers A B,D, of which only one is correct. Darken only
one bubble A, B, C or D, whichever you think is twerect answer, on the OMR Answer Sheet
with BLACK/BLUE BALL POINT PEN only.

All questions are of 1 mark eachHERE IS NEGATIVE MARKING . 1/4 marks will be
deducted for every wrong answer.

Rough work is to be done on the question boakiét.
Do not make any identification mark on the OMRs¥er Sheet or Question Booklet.

The Answer Sheet is designed for computer ewalo. If the instructions are not followed
properly, the candidate alone shall be responéiblthe resultant loss so caused.

After the test, hand over the Question Boodket OMR Answer Sheet to the Invigilator on duty.

Telecommunication equipments, such as calasigbager, cellular phone, wireless & blue tooth
devices etc. and weapons are not permitted inblexamination hall.

Nothing is to be copied/noted from the given ®Mnswer Sheet and Question Booklet, and be
taken out of the Examination Hall. Any candidaterfd doing so would be expelled from the
examination.

A candidate who creates disturbance of ang &mchanges his/her seat, or is found in possessio
of any paper possibly of any assistance, or foundg or receiving assistance, or found using
any other unfair means during the examination bellexpelled from the examination. The
decision of the Observer shall be final.

The candidates will not be allowed to leaveEkamination Hall before the expiry of time.
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Key TGT (SOCIAL STUDIES-15) 1.6.2014

Ans.

Q.No.

161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200

Ans.

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160

Ans.

Q.No.

81

82

83

84
85

86

87

88
89
90
91

92

93

94
95

96

97

98
99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53

54
55
56
57
58
59

60
61

62
63

64
65

66
67
68
69

70
71

72
73

74
75
76
77
78
79
80

Ans.

Q.No.

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40
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